
www.tvilum.com68084  Rev. E   19-06-2025



H < 2090 mm H > 2090 mm

  H

5-8 hr X2

READING GUIDE 2B(1)
VERSION 1
24-08-2021

68084-502 / 36



M4x0.35"
M4x9 mm

0126214 x6

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x60131513

Ø0.87x0.02"
Ø22x0,5 mm

0110901 x2

Ø5x30 mm
Ø0.2x1.18"

x340120203

Ø6,3x40 mm
Ø0.25x1.57"

x120120228

25 pcs

0.06x0.98"
1,4x25 mm

0123006 x3

Ø0.12x0.47"
Ø3x12 mm

0125215 x4

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x14

Ø0.28x1.97"
Ø7x50 mm

0125610 x20

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x16

Ø6,9x8 mm
Ø0.27x0.31"

x100126071

M4x7 mm
M4x0.28"

x50126211

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x6

23,5x17x22 mm
0.93x0.67x0.87"

x80111023

0.79x0.79x0.63x0.08"
20x20x16x2 mm

0113412 x1

34x76x16 mm
1.34x2.99x0.63"

x20113437

0.07x0.79"
1,9x20 mm

0123008 x18

Ø4x13 mm
Ø0.16x0.51"

x40125440

Ø4x25 mm
Ø0.16x0.98"

x100125506

Ø6,3x12 mm
Ø0.25x0.47"

0126039 x8

0.67x12.13/13.78"
17x308/350 mm

0141407 x6

51x40x9 mm
2.01x1.57x0.35"

x50150491

Ø26-91,8x50x19,7 mm
Ø1.02-3.61x1.97x0.78"

x50152291

ø5mm
1/5"

Ø12x4 mm
Ø0.47x0.16"

x40163001

0.71x1.79x0.47"
18x45,5x12 mm

0110621 x2

680843 / 36



Ø0.28x0.06"
Ø7x1,5 mm

0196203 x6

4x49x37 mm
0.16x1.93x1.46"

x10197642

5.75x0.91x0.55"
146x23x14 mm

0181144 x5

1.57x0.67x0.47"
40x17x12 mm

0191403 x2

18.31x0.59x1.12"
465x15x28,5 mm

0172562 x1

680844 / 36



470x474,5x15mm

HA

T

T

GA

WC

GB

FA
WB

08108

U

I

UA

I

J

08108

x3

EB x3

06081 x3

00749 x3

00750 x3

03304 x3

 x3  x2

680845 / 36



470x474,5x15mm

345x88x12,2mm

00749 x3

345x88x12,2mm

00750 x3

469,5x400x12mm

T x2

437x88x12,2mm

03304 x3

470x478x15mm

UA

955x70x15mm

J

284x478x15mm

GA

955x478x15mm

U

955x479x15mm

I x2

 x3  x2

680846 / 36

BOX 1/3



470x474,5x15mm

2000x480x15mm

FA

2000x480x15mm

HA

1926x489x2,5mm

08108 x2

448x342x2,5mm

06081 x3

 x3  x2

680847 / 36

BOX 2/3



470x474,5x15mm

1600x478x15mm

GB

1442x482x15mm

WC

482x157x15mm

EB x3

1922x482x15mm

WB
 x2

680848 / 36

BOX 3/3



*
Ø0.23x0.35"
Ø5,8x9 mm

0126020 x6

Ø3,5x15 mm
Ø0.14x0.59"

x60125233

0125233

*

3

0126020

2

0125233

*

4

0126020

1

0141407

17x308/350 mm
0.67x12.13/13.78"

x3

GB

1

680849 / 36

1



Ø5x30 mm
Ø0.2x1.18"

x40120203

0.71x1.79x0.47"
18x45,5x12 mm

0110621 x1

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x2

GB

6808410 / 36

2



*
Ø0.23x0.35"
Ø5,8x9 mm

0126020 x6

Ø3,5x15 mm
Ø0.14x0.59"

x60125233 0141407

17x308/350 mm
0.67x12.13/13.78"

x3

0126020

1

*
0125233

4

*
0125233

3

0126020

2

HA

1

6808411 / 36

3



51x40x9 mm
2.01x1.57x0.35"

x20150491

Ø6,9x8 mm
Ø0.27x0.31"

0126071 x4

M4x7 mm
M4x0.28"

x20126211

HA

HA

6808412 / 36

4



Ø6,9x8 mm
Ø0.27x0.31"

0126071 x6

M4x7 mm
M4x0.28"

x30126211

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x2

0.71x1.79x0.47"
18x45,5x12 mm

0110621 x1

51x40x9 mm
2.01x1.57x0.35"

x30150491

FA

FA

6808413 / 36

5

6



Ø5x30 mm
Ø0.2x1.18"

x120120203

Ø5x30 mm
Ø0.2x1.18"

x120120203

U

GA

J

UA

I x2

6808414 / 36

7

8



Ø7x50 mm
Ø0.28x1.97"

x20125610

4x49x37 mm
0.16x1.93x1.46"

x10197642

Ø7x50 mm
Ø0.28x1.97"

x20125610

4x49x37 mm
0.16x1.93x1.46"

x10197642

GAI

UA

GB

6808415 / 36

9

10



Ø7x50 mm
Ø0.28x1.97"

x20125610

4x49x37 mm
0.16x1.93x1.46"

x10197642

GB

I

U

U

GA
I

6808416 / 36

11

12



Ø7x50 mm
Ø0.28x1.97"

x140125610

4x49x37 mm
0.16x1.93x1.46"

x10197642

I

FA

HA

J

UA

I

U

6808417 / 36

13



0.79x0.79x0.63x0.08"
20x20x16x2 mm

0113412 x1

0.07x0.79"
1,9x20 mm

0123008 x4

Ø3,5x15 mm
Ø0.14x0.59"

x20125233

I

J

1

2

08108

08108

6808418 / 36

14

15



0.07x0.79"
1,9x20 mm

0123008 x14

25 pcs

0.06x0.98"
1,4x25 mm

x30123006

Ø12x4 mm
Ø0.47x0.16"

x40163001

  H
/3620

 YY 

 XX 

XX = YY

6808419 / 36

16

17



  H

3
X2

H < 2090 mm

  H

  

  

H

1
  

  
  

H

2

25-08-2022 JTJA:
WARNING - LIFT FURNITURE WITH CARE

How to determine H:
Add about 30mm to the diagonal height of the furniture
to ensure safe distances between the floor and the roof.

H > 2090 mm

6808420 / 36



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/3

21 / 36



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/3

22 / 36



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 3/3

23 / 36



/3625

Ø4x13 mm
Ø0.16x0.51"

x40125440

34x76x16 mm
1.34x2.99x0.63"

x20113437

6808424 / 36

18



?

??

100%

80%
1

6

87

54

32

9

25 / 36 68084



1.57x0.67x0.47"
40x17x12 mm

0191403 x2

Ø0.12x0.47"
Ø3x12 mm

0125215 x4

18.31x0.59x1.12"
465x15x28.5 mm

0172562 x1

100mm

3,94in

6808426 / 36

19

20



2

1
0.93x0.67x0.87"
23,5x17x22 mm

0111023 x8

Ø6,3x12 mm
Ø0.25x0.47"

x80126039

Ø0.87x0.02"
Ø22x0,5 mm

320110901

T

T

6808427 / 36

21

22



Ø0.28x0.06"
Ø7x1,5 mm

0196203 x6

6808428 / 36

23



Ø26-91,8x50x19,7 mm
Ø1.02-3.61x1.97x0.78"

x50152291

/3635

1

2WC
WB

WB

WC

6808429 / 36

24

25



5.75x0.91x0.55"
146x23x14 mm

0181144 x2

Ø4x25 mm
Ø0.16x0.98"

x40125506

ø5mm
1/5"

1

5mm
1/5''

2

6808430 / 36

26



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x60131513

Ø5x30 mm
Ø0.2x1.18"

x60120203

EB x3

00750 x3

00749 x3

6808431 / 36

27

28



Ø15x9,5 mm
Ø0.59x0.37"

x60131687 1 2 3

EB x3

00750 x3

00749 x3

x3

06081

6808432 / 36

29

30



Ø6,3x40 mm
Ø0.25x1.57"

x120120228

Ø4x25 mm
Ø0.16x0.98"

x60125506

5.75x0.91x0.55"
146x23x14 mm

0181144 x3

x3

03304

x3

EB

6808433 / 36

31

32



M4x0.35"
M4x9 mm

0126214 x6

3

21

EB

6808434 / 36

33



35 / 36 68084



MAX

kg

lbs

7
15

lbs

kg

20
9

lbs

kg

9
4

lbs

kg

40
18

lbs

kg

40
18

lbs

kg

40
18

lbs

kg

40
18

© TVILUM A/S 2018 36 / 36 68084




